<

KDi = x AEXAEZ S AIANEN,

@ J={xlxerl P, (ol1)

Aot~ [ Py wim o
40 = - {( x)

xfx“-» IR T +> /]

(D

G {Gx) T2 o bt

4 3
- ( X X T AX ~AX > t1)

" 3
TN L eX £ It kA

£X) = {2
Xt x - ZXS-QXL-nr <+

-
—

AR

e I T

bt X +Q><3 “Px T % | _/{%ﬂ

@ Mok Q= ' * x =2x = 2% * 3

Dlyélﬁa&\_ : ><(;.1"' ‘4

Y
/L (X f><"°2>( 2’("(“’(4'4) (X‘*4) -X‘fQX"aK’ - A
e\o;@u\-bz K‘aa"—'-/l

- (x7=x")
=2
=(Rx"=2x%)
O +Ix X

— (=2 «2x)
- =tA
(=D t4)
o

/\«(X Tk - Ix—n) (>r 4) =

~-(x71= x?)
a3 L U
=3k =3
3x ~IX
-(3x" -3 x)
x =
=~}
0
N (X+3a< +3x 1) : (1)
=l053 [+ [F)
It +3x
~(Axtt2x)
* *1

= 47)
©

o
-

X~r3x+3x‘f-/l

'\ogﬂf-&« Xa T =+
1l

C 2
X+ 22 t14 = (x+1)

/.)'Xa

= 1

[3 SIn 52*]}/



(3) “ﬁf/«%« dede. ! | WeNe
@ Lo 1’5(}»(/&-\0

74 ‘(0= Sxt - 65X x4
N8 O x SXUX-6xYx A

il

Pokbecie i xz = A

ééx+‘r>( Gx ~Yx +1):(x ~1) = Sx"* 8x + 3% =1
S “.sx')

3 - bx AEEEE. AR
W R T
3x" =lx
=(3x"=3%)
—% t/1
(=% 4
A il 2
N (SX * 3 43x =) (>ta) = Sx tYx -1
—(&% + $xY '
Lk’ + 3%
—(4x +4x)
B
— (=% =)

g 4
e N A g i LE:{'_/’/'é'//f}
(e

{(X)—20x+/f%>< =42 x| =1

,f( = 220(+12 442+ =0 | uukior

«f =| 2D ML-/N, "‘( ’/16 >0 | L P-(/l/O)

rai )-= W 1AL LY =57 <0 Atox (L)

TR

AN A




. W%C&PMQ
4”(’0 = Q0X F A% AL ~ Y
nb O = 20X +Rx —12x—Y

Pobesel K= A ((éf"\“/’”"”; O"““@)
N 2,0>< 1//2x — A2 = Y )i (xt4) = Q0x ~$x - §

2053 ¢ 20x°)
=¥x* = AYx
~(~9< — ¥ x)
=Y
—~(—bx —4)

O
2
N 0= 20x ~¥x—Y [ 7120
2

A AL
XN{;% = 8 + -&S—+ 25
== o e e o
LVEE 5’+)¢,r riadt ?E - Ot
™
- 2-JE -4 4 1
Xy = 5 7 2 5 o"ﬁ ;‘ -03
e

{“'(X) = 60X+ 2(x ~12
h.& f"’(—/;) = 60-29-412 = LY D0 Re-li~Uu
REZIID.

2" (0%) = 342 70 6 Re-titer P (03 [0,46)
‘f"“ ('afs) = ’43/‘?‘ <0 A Le-Re- e P“""a ('013 f 0,6 )

RIS
IWX'(/I+'/"‘}—“2'§*'1""/I):_+
X= 1t ' | |




(4)
N

: 3
k e
A 3
%— :.
o .
3 3 S
3 v
.MI‘M ..W

/f// T .W 0

W
>
O.I.u.:

HQ‘J ol il

N

~N

N




